

Travis County Commissioners Court Agenda Request

Meeting Date: March 19, 2013

Prepared By/Phone Number: Loren Breland, 854-4854 Elected/Appointed Official/Dept. Head: Cyd Grimes

Commissioners Court Sponsor: Judge Biscoe

Agenda Language: Approve contract award for Topdressing Material for Athletic Fields, IFB No. B1302-008-LD, to the low bidder, JAE Construction Inc.

- ➤ Purchasing Recommendation and Comments: Purchasing concurs with department and recommends approval of requested action. This procurement action meets the compliance requirements as outlined by the statutes.
- ➤ This contract will provide topdressing material for TNR Parks athletic fields.

Bid #B1302-008-LD was issued on February 19, 2013 and 3 bids were received on March 6, 2013. TNR has reviewed the bids and recommends award to the low bidder, JAE Construction Inc.

Contract-Related Information:

Award Amount: Estimated Quantity, \$61,848.96.

Contract Type: Annual Contract

Contract Period: March 19, 2013 - March 18, 2014

> Solicitation-Related Information:

Solicitations Sent:15	Responses Received:3
HUB Information:	% HUB Subcontractor:

> Funding Information:

	SAP Shoppi	ng Cart #:
	Funding Acc	count(s):
	Comments:	SAP Funds Reservation Document 300000525 entered
in	SAP	

AGENDA REQUEST DEADLINE: All agenda requests and supporting materials must be submitted as a pdf to agenda@co.travis.tx.us by Tuesdays at 5:00 p.m. for the next week's meeting.

TRANSPORTATION AND NATURAL RESOURCES

STEVEN M. MANILLA, P.E., COUNTY EXECUTIVE

OF THE

700 Lavaca Street-5th Floor Travis County Administration Building PO Box 1748 Austin, Texas 78767 Phone: (512) 854-9383 Fax: (512) 854-4697

March 12, 2013

MEMORANDUM

TO:

Cyd Grimes, Purchasing Agent

FROM:

Steven M. Marilla, P.E., County Executive

SUBJECT:

Solicitation By 302-008-LD-Topdressing Material for Athletic Fields

TNR has reviewed the bid tabulations for topdressing material for athletic fields and recommends award to the low bidder JAE Construction, Inc. to supply this material for parks. JAE's cost proposal of \$24.93 per cubic yard is fair and reasonable.

Funds in the amount of \$61,848.96 have been reserved for this recommendation under funds reservation document number 300000525. We have also included \$2,393.28 for modification to add ninety-six (96) cubic-yards to include Webberville Park for a total funds reservation amount of \$64,242.24

We appreciate your assistance with this request. If you have any questions please contact Kurt Nielsen at 854-7218.

nillo

Charles Bergh, Park Director Robert Armistead, Park Program Manager Kurt Nielsen, District Park Manager Tim Speyrer, Park Supervisor

TRAVIS COUNTY
2013 MAR 12 AM 11: 46
PURCHASING

Funds Reservation 300000525

General Data Document type OT Document type 030 Company code 1000 Document date 03/11/2013 FM area 1000 Posting date 03/11/2013 Controlling area 1000 Currency USD/ 1.00000 Statistics LOPEZI Entered by Created on 03/11/2013 Last changed by Last changed **More Data** Text Contract Award-Topdressing Matri-Athletic Fields Reference Overall Amount 64,242.24 USD

Document item 001 Text Contract Award-Topdressing Material Commitment item 510130 Funds center 1490220001 Fund 0001 G/L account 510130 Cost center 1490220001 Due on Vendor Customer Amount 61,848.96 USD

Document Item 002 Text Topdressing Matril-Webberville Park Commitment item 510130 Funds center 1490220001 Fund 0001 G/L account 510130 1490220001 Cost center Due on Vendor Customer **Amount** 2,393.28 USD

Bid #B1302-008-LD - TOPDRESSING MATERIAL FOR ATHLETIC FIELDS

Creation Date Feb 13, 2013

End Date

Mar 6, 2013 2:00:00 PM CST

Start Date

Feb 19, 2013 10:08:27 AM CST

Awarded Date Not Yet Awarded

B1302-008-LD01-01 Topdress	ing Material for Athletic I	Fields			
Supplier	Unit Price	ice Qty/Unit Total Price Att		Attch.	ch. Docs
JAE Construction, Inc. [Ad]	First Offer - \$24.93	2112 / cubic yard	\$52,652.16		Y
Product Code: Unit Amount Text: Twenty four dolla Total Amount Text: Fify two thousa dollars and 16 cents Agency Notes:		Supplier Product Cod Supplier Notes:	le:		71
Whittiesey Landscape Supplies	First Offer - \$32.89	2112 / cubic yard	\$69,463.68		Y
Product Code: Unit Amount Text: Price per yard Total Amount Text: Total yards delin Agency Notes:	vered	Supplier Product Coo FIELDS Supplier Notes:	le: TOPDRESSING	FOR AT	ILETIC
E.O.N.E., Ltd. dba Organics	First Offer - \$35.66	2112 / cubic yard	\$75,313.92		Y
Product Code: Unit Amount Text: per cubic yard de Total Amount Text: total delivered f Agency Notes:	elivered	Supplier Product Coc Supplier Notes: Deliver			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
JAE Construction, Inc. [Ad]	First Offer - \$24.51	144 / cubic yard	\$3,529.44	T TEN	T Y
Product Code: Unit Amount Text: Twenty four doll Total Amount Text: Three thousand dollars and 44 cents Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Whittlesey Landscape Supplies	First Offer - \$34.89	144 / cubic yard	\$5,024.16		Υ
Product Code: Unit Amount Text: PRICE PER YARD Total Amount Text: TOTAL PRICE D Agency Notes:		Supplier Product Co. ATHLETIC FIELDS Supplier Notes:	de: TOP DRESSIN	G MATERI	AL FOR
E.O.N.E., Ltd. dba Organics	First Offer - \$35.66	144 / cubic yard	\$5,135.04		Y
Product Code: Unit Amount Text: per cubic yard de	elivered	Supplier Product Coc Supplier Notes: Deliv			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
JAE Construction, Inc. [Ad]	First Offer - \$23.60	192 / cubic yard	\$4,531.20	1111	Y
Product Code: Unit Amount Text: Twenty three do Total Amount Text: Four thousand dollars and 20 cents Agency Notes:		Supplier Product Co Supplier Notes:	de:		
E.O.N.E., Ltd. dba Organics	First Offer - \$35.66	192 / cubic yard	\$6,846.72		Y
Product Code: Unit Amount Text: per cubic yard of Total Amount Text: total delivered Agency Notes:		Supplier Product Co Supplier Notes: Deliv			
Whittlesey Landscape Supplies	First Offer - \$35.89	192 / cubic yard	\$6,890.88		Y
Product Code: Unit Amount Text: PRICE PER YARI		Supplier Product Code: TOPDRESSING MATERIA ATHLETIC FIELDS		AL FOR	

Total Amount Text: TOTAL PRICE DELIVERED
Agency Notes:

Supplier Notes:

B1302-008-LD01-04 Topdres	sing Material for Athletic	Fields				
Supplier	Unit Price			Attch.	Attch. Doc	
JAE Construction, Inc. [Ad]	First Offer - \$23.67	48 / cubic yard	\$1,136.16		Y	
Product Code: Unit Amount Text: Twenty three do Total Amount Text: One thousand dollars and 16 cents Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
E.O.N.E., Ltd. dba Organics	First Offer - \$35.66	48 / cubic yard	\$1,711.68		Y	
Product Code: Unit Amount Text: per cubic yard d Total Amount Text: total delivered Agency Notes:		Supplier Product Co Supplier Notes: Deli				
Whittlesey Landscape Supplies	First Offer - \$35.89	48 / cubic yard	\$1,722.72		Y	
Product Code: Unit Amount Text: PRICE PER YARD Total Amount Text: TOTAL PRICE DELIVERED Agency Notes:		Supplier Product Co ATHLETIC FIELDS Supplier Notes:	de: TOPDRESSING	MATERIA	AL FOR	

Supplier Totals

JAE Construction, Inc. [Ad]	\$61,848.96	(4/4 items)
Bid Contact Manuel Escobar meir@austin.rr.com Ph 512-447-2413 Fax 512-383-5107	Address 8700 Manchaca Rd Ste-406 Austin, TX 78748	
Agency Notes:	Supplier Notes:	
Whittlesey Landscape Supplies	\$83,101.44	(4/4 items)
Bid Contact Dakota Smith dakota@989rock.com Ph 512-989-7625	Address 3219 S IH 35 Round Rock, TX 78664	
Agency Notes:	Supplier Notes:	
E.O.N.E., Ltd. dba Organics	\$89,007.36	(4/4 items)
Bid Contact Pat whited pat@organicsbygosh.com Ph 512-276-1211	Address 13602 FM 969 Austin, TX 78724	
Agency Notes:	Supplier Notes:	